

District:

Florida Department of Transportation

01/21/2020

Page 1 of 1

Vendor Ranking

08200114 Letting: January 14, 2020 02:30 PM Call Order: 001

Counties: CLAY, DUVAL,

Turnpike Contract Time: 365 CALENDAR DAYS

Contract Desc: TRAFFIC CONTROL DEVICES - ZONES 3, 4 & 5

Contract: E8S35-R0

Fed Aid No: N/A

Project(s): 43791417202 (*)

HILLSBOROUGH, LAKE, ORANGE, OSCEOLA,

PASCO, POLK,

HERNANDO,

SEMINOLE, SUMTER,

TURNPIKE

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid	
1	BOB'S BARRICADES, INC.	Responsive	Winning bid	\$41,956.00	100.00% Inter	nt to AWARD
2	TRAFFIC CONTROL PRODUCTS OF FLORIDA, INC.	Responsive	Non-Winning Bid	\$45,872.00	109.33%	
3	ACME BARRICADES, L.C.	Responsive	Non-Winning Bid	\$72,225.00	172.14%	

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: JANUARY 21, 2020 AT 4:00 PM



Florida Department of Transportation



Tabulation of Bids

Page 1 of 4

Letting: 08200114 January 14, 2020 **Call Order:** 001 **Contract:** E8S35-R0

District: Turnpike Counties: CLAY, DUVAL, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

HERNANDO,
Project(s): 43791417202 (*)

Contract Descr: TRAFFIC CONTROL DEVICES - ZONES 3, 4 & 5

HILLSBOROUGH, LAKE, ORANGE, OSCEOLA.

The work specified in this contract consists of providing all labor, materials, equipment and interest traffic control devices at various locations on the Florida's Turnpike (SR 91), MP 200 to 300 Beaching Expressway (8.4 miles), East-West Expressway (1.7 miles), Southern Connector Extension (6.2 miles), Seminois Expressway (17.6 miles), Suncoast Parkway (37.9 miles), Veterans Expressway (16.1 miles), Polk Parkway (24.4 miles), Western Beltway (10.5 miles), and First Coast Expressway (SR 23) from Interstate I-10 to SR 21 Blanding Boulevard.

Prior to beginning work under this Contract, the Contractor shall submit to the Engineer for approval, two copies of the Contractor's proposed plan and methods for performing the work, including a listing of equipment and personnel anticipated for use.

The Contractor shall perform all work during day and night hours in accordance with the Turnpike Lane Closure Policy.

No U-turns shall be permitted as a condition of this Contract, except at Service Plazas.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

Line No / Item ID Item Description	Alternate Quantity Units	(1) BOB'S BARF	RICADES, INC.	(2) TRAFFIC PRODUCTS OF		(3) ACME BAF	RRICADES, L.C.
() indicates item is bid as L	ump Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 000	1 MAINTENANC	E SUPPORT SERV	/ICES (MH)				
0005 0102 14 TRAFFIC CONTROL OFFIC	100.000 CER HR	60.00000	6,000.00	55.00000	5,500.00	65.00000	6,500.00
0010 0102 60 WORK ZONE SIGN	1,500.000 ED	0.05000	75.00	0.50000	750.00	1.00000	1,500.00
0015 0102 74 1 CHANNELIZING DEVICE- 1 VP, DRUM, OR LCD	15,000.000 TYPES I, II, DI, ED	0.05000	750.00	0.10000	1,500.00	0.50000	7,500.00
0020 0102 74 2 CHANNELIZING DEVICE, T	1,500.000 TYPE III, 6' ED	0.05000	75.00	0.10000	150.00	0.75000	1,125.00



Page 2 of 4

Florida Department of Transportation



Tabulation of Bids

l etting:	08200114	January 14, 2020	Call Order: 001	Contract: F8S35-R0

Letting	g: 08	3200114 Ja	nuary 14, 20	20 Ca l	II Order: 001		Contract:	E8S35-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) BOB'S BARI	RICADES, INC.	(2) TRAFFIC PRODUCTS OF		(3) ACME BAR	RICADES, L.C.
() inc	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 M	IAINTENANCI	E SUPPORT SERV	/ICES (MH)				
	0102 76 / BOARD / AD / PANEL	VANCE WARNIN	200.000 G ED	5.00000	1,000.00	5.00000	1,000.00	11.00000	2,200.00
	0102 99 BLE CHANGE EMPORARY	ABLE MESSAGE	170.000 ED	35.00000	5,950.00	50.00000	8,500.00	50.00000	8,500.00
	EMPORARY,	ABLE MESSAGE DEPARTMENT	40.000 ED	35.00000	1,400.00	20.00000	800.00	55.00000	2,200.00
0040 PORTAI	0102150 1 BLE REGULAT	TORY, SIGN	30.000 ED	5.00000	150.00	5.00000	150.00	10.00000	300.00
0045 RADAR	0102150 2 SPEED DISPI	LAY UNIT	30.000 ED	5.00000	150.00	5.00000	150.00	10.00000	300.00
0050 MOBILIZ RESPO	E101 72 ZATION (EMEI NSE)	RGENCY	6.000 EA	1.00000	6.00	100.00000	600.00	250.00000	1,500.00
0055 TRAFFI	E102 74 9 C CONES		15,000.000 ED	0.05000	750.00	0.10000	1,500.00	0.50000	7,500.00
0060 TRUCK (TEMPC	E102 97 1 MOUNTED AT DRARY)	ITENUATOR	10.000 ED	645.00000	6,450.00	660.00000	6,600.00	750.00000	7,500.00



Florida Department of Transportation

01/21/2020

Tabulation of Bids

Page 3 of 4

Letting:	08200114	January 14, 20	20 Ca	II Order: 001		Contract:	E8S35-R0	
Line No / Item		ate Quantity Units	(1) BOB'S BAR	RICADES, INC.	(2) TRAFFIC PRODUCTS OF		(3) ACME BAF	RRICADES, L.C.
() indicates iten	n is bid as Lump Sur	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	ON: 0001	MAINTENANC	E SUPPORT SERV	VICES (MH)				
0065 E102100 MOT MAINTENA		320.000 HR	60.00000	19,200.00	58.35000	18,672.00	80.00000	25,600.00
	ANCE SUPPORT SERVICES (MH)	Section Totals:		\$41,956.00		\$45,872 .00		\$72,225.00
	Contract (Grand Totals:		\$41,956.00		\$45,872.00		72,225.00



Florida Department of Transportation

01/21/2020

Tabulation of Bids

Page 4 of 4

Letting: 08200114

January 14, 2020

Call Order: 001

Contract:

E8S35-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.